
 T
RU

E 
17

0.
00

 

 750.00 
Y

 1
45

0.
00

 
X

A HOLDER CHAIN 
W/ HOOK 
L=40MM

 1
11

5.
00

 
W

 7
50

 ±
1

 
Z

 460.00 

I

I

SCALE 1:20

 85.00 
 40.00 

DETAIL A
SCALE 1 : 5

 175.00 

SECTION I-I
SCALE 1 : 10

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:15 SHEET 1 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

21/04/2021

DS-0006-1-FJ_1

DS-0006-1-
FJ_CAD_ASSEMBLY

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



3

10

1

2

9

12

11

4

6

7

8

5

SUB-ASSEMBLY
1 FRONT FRAME
2 BACK FRAME
3 SHELF
4 BASIN HOLDER
5 VALVE HOLDER

6 LIQUID SOAP HOLDER

7 TOWEL HOLDER

8 CLOSING MECHANISM

9 FRAME CONSTRAINT CHAIN
10 BUCKET W/TAP
11 DRAINAGE BUCKET

12 BASIN HOLDER CHAIN

BOM TABLE

ITEM NO. PART NUMBER DESCRIPTION QTY.

1
DS-0006-1-

FJ_CAD_FRNTFRMAS
SM

FRONT FRAME ASSEMBLY 1

1.1
  DS-0006-1-

FJ_CAD_1500MMFR
MPOST

2" X 2" TIMBER [L=1500mm] 2

1.2
  DS-0006-1-

FJ_CAD_750MMFRM
NOG

2" X 1" TIMBER [L=750mm] 3

1.3   DS-0006-1-
FJ_CAD_SCREW

40mm COUNTERSUNK WOOD 
SCREW 12

2 DS-0006-1-
FJ_CAD_SHELF SHELF FOR TOP BUCKET 1

2.1
  DS-0006-1-

FJ_CAD_420MMX28
0MMSHELFCMP2

12mm PLYWOOD [420mm X 
280mm] 1

2.2
  DS-0006-1-

FJ_CAD_420MMSHE
LFCMP1

2" X 1" TIMBER [L=420mm] 2

2.3
  DS-006-1-

FJ_CAD_100MMSHE
LFCMP3.1

2" X 1" PLYWOOD [=100mm] 2

2.4
  DS-0006-1-

FJ_CAD_HNGE1CM
P2

TEE HINGES [70mm X 140mm] 2

2.5   DS-0006-1-
FJ_CAD_SCREW

20mm COUNTERSUNK WOOD 
SCREW 10

2.6   DS-0006-1-
FJ_CAD_SCREW

40mm COUNTERSUNK WOOD 
SCREW 4

4 DS-0006-1-
FJ_CAD_SCREW

20mm COUNTERSUNK WOOD 
SCREW 47

5
DS-0006-1-

FJ_CAD_LIQUIDHND
WSHHLDR

18 GAUGE GALVANISED 
SHEET METAL [125mm X 

120mm]
1

7
DS-0006-1-

FJ_CAD_BCKFRMAS
SM

BACK FRAME ASSEMBLY 1

7.1
  DS-0006-1-

FJ_CAD_1500MMFR
MPOST

2" X 2" TIMBER [L=1500mm] 2

7.2
  DS-0006-1-

FJ_CAD_520MMFRM
NOG

2" X 1" TIMBER [L=520mm] 2

7.3
  DS-0006-1-

FJ_CAD_650MMFRM
NOG

2" X 1" TIMBER [L=650mm] 1

7.4   DS-0006-1-
FJ_CAD_SCREW

40mm COUNTERSUNK WOOD 
SCREW 12

10
DS-0006-1-

FJ_CAD_HNGE1CM
P1.2

4" DOOR HINGES 2

11 DS-0006-1-
FJ_CAD_TWLHLDR

MECHANISM TO HOLD PAPER 
TOWEL ROLL 1

11.1
  DS-0006-1-

FJ_CAD_TWLHLDRC
MP1

25mm X 3mm ANGLE IRON 
[L=85mm] 1

11.2
  DS-0006-1-

FJ_CAD_TWLHLDRC
MP2

D5MM ROD [L=45mm] 1

11.3
  B18.2.3.1M - HEX 
CAP SCREW, M6 X 

1.0 X 30 --18C
BOLT M6 X 1.0 X 30 --18C 1

11.4
  B18.22M - PLAIN 
WASHER, 6 mm, 

REGULAR
PLAIN WASHER, 6 mm, 

REGULAR 2

11.5
  B18.2.4.1M - HEX 

NUT, STYLE 1,  M6 X 1 
--D-C

HEX NUT M6 X 1 --D-C 1

12
DS-0006-1-

FJ_CAD_TWLHLDRC
MP4

1" WOODEN DOWL [L=290mm] 1

13
DS-0006-1-

FJ_CAD_TWLHLDRC
MP9

4" NAIL 1

14
DS-0006-1-

FJ_CAD_TWLHLDRC
MP7

4" NAIL 1

15
DS-0006-1-

FJ_CAD_TWLHLDRC
MP8

30mm STRAPPING [L=255mm] 1

16 DS-0006-1-
FJ_CAD_BASINHLDR

16mm PLYWOOD [415mm X 
405mm] 1

17
DS-0006-1-

FJ_CAD_HNGE1CM
P2

TEE HINGES [70mm X 140mm] 2

18 DS-0006-1-
FJ_CAD_BASIN PLASTIC BASIN 1

19 DS-0006-1-
FJ_CAD_SPONGE FOAM MAT 1

20 PART2^DS-0006-1-
FJ_CAD_ASSEMBLY BUNGEE CORD [L=200mm] 1

21 DS-0006-1-
FJ_CAD_PVCELBOW 1" PVC ELBOW 1

22 DS-0006-1-
FJ_CAD_BUCKET 20 LTR BUCKET 1

23
DS-0006-1-

FJ_CAD_OUTLETHOS
E

5/8" HOSE [L=670mm] 1

24
JIS B 1181 HEXAGON 

NUT - CLASS 4 
FINISHED M8 --S

HEXAGON NUT M8 --S 4

26
DS-0006-1-

FJ_CAD_CHAINHOO
K+WSHHSEHLDR

MECHANISM TO HOLD OUTLET 
HOSE AND CHAIN 1

26.1
  DS-0006-1-

FJ_CAD_HNGE1CM
P1.2.2

95mm X 200mm TEE HINGES 1

26.2
  DS-0006-1-

FJ_CAD_VALVECHAI
NHOOKCMP1

30mm X 4mm MILD STEEL FLAT 
BAR [L=220mm] 1

26.3
  DS-0006-1-

FJ_CAD_VALVECHAI
NHOOKCMP2

40mm X 3mm MILD STEEL FLAT 
BAR [L=40mm] 1

26.4
  DS-0006-1-

FJ_CAD_VALVECHAI
NHOOKCMP3

D10MM MILD STEEL ROD 
[L=190mm] 1

26.5
  DS-0006-1-

FJ_CAD_VALVECHAI
NHOOKCMP4

D10MM GALVANIZED  STEEL 
TUBE [L=25mm] 1

28 DS-0006-1-
FJ_CAD_TAPHLDR VALVE HOLDER 1

28.1
  DS-0006-1-

FJ_CAD_TAPHLDRC
MP1

40mm X 4mm MILD STEEL FLAT 
BAR [L=145mm] 1

28.2
  DS-0006-1-

FJ_CAD_TAPHLDRC
MP2

18 GUAGE GALVNIZED SHEET 
METAL [105mm X 30mm] 1

28.3
  

PA_GN001_CAD_RIV
ET

3.2mm X 16mm RIVET 4

28.4   PART1^DS-0006-1-
FJ_CAD_TAPHLDR

D5MM MILD STEEL ROD 
[L=25mm] X2 1

28.5
  DS-0006-1-

FJ_CAD_TAPHLDRC
MPSADDLE

25mm METAL SADDLE 1

28.6   DS-0006-1-
FJ_CAD_VALVE

PEX ANGLE VALVE QUARTER 
TURN 1/2 X 1/2" CHROME 1

28.8   PART4^DS-0006-1-
FJ_CAD_TAPHLDR 40mm PLAIN PVC TEE 1

28.9   PART3^DS-0006-1-
FJ_CAD_TAPHLDR 5mm CABLE TIES X2 1

28.10
  B18.2.3.1M - HEX 
CAP SCREW, M6 X 

1.0 X 16 --16C
BOLT M6 X 1.0 X 16 --16C 2

28.11
  B18.2.4.1M - HEX 

NUT, STYLE 1,  M6 X 1 
--D-S

HEX NUT  M6 X 1 --D-S 2

29 DS-0006-1-
FJ_CAD_EYEBOLT EYEBOLT M8 X 50mm 6

30
DS-0006-1-

FJ_CAD_CHAINASS
M

FOR LEVER MECHANISM 1

30.1
  DS-0006-1-

FJ_CAD_D15MM X 
20mm TUBE

D15MM STEEL TUBE [L=20mm] 1

30.2
  B18.22M - PLAIN 
WASHER, 10 mm, 

REGULAR
PLAIN WASHER, 10 mm 1

30.3   AS 1110.1 - M4 X 
25-S BOLT M4 X 25-S 1

30.4   AS 1112.1 S1 - M4-
D-S HEX NUT M4-D-S 1

30.5
  DS-0006-1-

FJ_CAD_CHAINASS
M

2mm STRAIGHT LINK CHAIN 
[L=200mm] 1

31
DS-0006-1-

FJ_CAD_ANGLELINE 
W-M12 BOLT

VALVE CLOSING MECHANISM 1

31.1
  DS-0006-1-

FJ_CAD_25mm X 
85mm ANGLELINE

25mm X 3mm ANGLE IRON 
[L=85mm] 1

31.2

  JIS B 1180 
CONTINUOUS 

THREAD HEXAGON 
HEAD BOLT A M12 X 

30 --S

BOLT M12 X 30 --S 1

31.3   DS-0006-1-
FJ_CAD_PINSPRING FISHING SNAP 1

31.4
  JIS B 1181 

HEXAGON NUT - 
STYLE 1 A M12 - W --

S
HEXAGON NUT M12 - W --S 1

32
DS-0006-1-

FJ_CAD_BUCKET&TA
PASSM

20 LTR BUCKET WITH TAP 1

32.1
  DS-0006-1-

FJ_CAD_BUCKET+TA
P

20 LTR BUCKET 1

32.2   DS-0006-1-
FJ_CAD_TAP PLASTIC TAP SET 1

33 PART4^DS-0006-1-
FJ_CAD_ASSEMBLY D10MM HOSE [L=230mm] 1

34
DS-0006-1-

FJ_CAD_HOSENOZZL
E

1/2" TAP NOZZLE 2

35 PART5^DS-0006-1-
FJ_CAD_ASSEMBLY D10MM HOSE [L=235mm] 1

38 AS-NZS 4410-
ST4.8X32-C-S COACH SCREW ST4.8X32-C-S 2

39 PART7^DS-0006-1-
FJ_CAD_ASSEMBLY

2mm TWISTED LINK CHAIN 
[L=400mm] 1

40 DS-0006-1-
FJ_CAD_EYE HOOK EYE HOOK 2

41
MIRRORPART7^DS-

0006-1-
FJ_CAD_ASSEMBLY

2mm TWISTED LINK CHAIN 
[L=400mm] 1

43 PART8^DS-0006-1-
FJ_CAD_ASSEMBLY

2mm TWISTED LINK CHAIN 
[L=460mm] 2

44
JIS B 1181 HEXAGON 

NUT - CLASS 4 
FINISHED M8 --N

HEXAGON NUT -M8 --N 2

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:8 SHEET 2 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

21/04/2021

DS-0006-1-FJ_2

DS-0006-1-
FJ_CAD_ASSEMBLY 
EXPLODED

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

Technical Team
Highlight

Technical Team
Highlight

Technical Team
Highlight

Technical Team
Highlight

Technical Team
Highlight



 750.00 

 40.00 

 1
50

0.
00

 

 5
70

.0
0 

 7
50

.0
0 

 74° 

 20.00 

 40.00 

SCALE 1:20

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:10 SHEET 3 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

21/04/2021

DS-0006-1-FJ_3

DS-0006-1-
FJ_CAD_FRNTFRMASSM

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 520.00 

 650.00 

 74
° 

 20.00 

 40.00 

 20.00 

B

 40.00 

SCALE 1:20
 1500.00 

 R20.00 

 570.00 

 750.00 

 40.00 

VIEW B

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:10 SHEET 4 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

21/04/2021

DS-0006-1-FJ_4

DS-0006-1-
FJ_CAD_BCKFRMASSM

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 420.00 
 340.00 

 4 x R10.00 

 2
80

.0
0  4

20
.0

0 

 5
0.

00
 

 40.00 

 40.00 
 140.00 

2 x 80mm TEE HINGES

SCALE 1:10

SCALE 1:10

EXPLODED VIEW

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 2:9 SHEET 5 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

28/07/2021

DS-0006-1-FJ_5

DS-0006-1-FJ_CAD_SHELF

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



15MM PVC 
ELBOW

 1
6.

00
 

 1
0.

00
 

DRAINAGE HOSE
BASIN

OUTLET HOSE
HOLDER/ CHAIN
SLOT

 60.00 

 265.00 

 415.00 

 1
58

.5
0 

 17.50 

 
29

0.0
0 

DEP
EN

DEN
T O

N

 BA
SIN

 D
IAMETE

R

 4
05

.0
0 

 20.00 

SCALE 1:12

SCALE 1:10

EXPLODED VIEW

2 x M8 EYE BOLT
TO HOOK HOLDER 
CHAIN

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:8 SHEET 6 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

21/04/2021

DS-0006-1-FJ_6

DS-0006-1-FJ_CAD_BASIN 
HOLDER ASSEMBLY

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 R8.5
0 

 3
0°

 

 162.24 

4" TEE HINGES
(MODIFIED)

 9
2.

08
 

 127.24 

 1
95

.0
0 

 2
3.

00
 

 1
63

° 

 1
85

.0
0 

 4.00 

 3
.0

0 

 40.00 

 25.00 

 
10.00 

C

SCALE 1:5

 R4.00  25.21 

 30.00 

VIEW C

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:2 SHEET 7 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

05/08/2021

DS-0006-1-FJ_7

DS-0006-1-
FJ_CAD_CHAINHOOK+WSH
HSEHLDR

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 4 
x 

4.5
0 

 40.00 
 20.00 

 2
0.

00
 

 1
0.

00
 

 4
2.

00
 

 9
.0

0 

 1.21 

 R2.48 

 3
0.

00
 

 2
4.

00
 

 2 
x R

2.5
0 

 25.00 

 76.30 

 4
0.

00
 

 10.00  20.00 

 1
0.

00
 

 2
2.

00
 

4 x 4MM RIVETS

 1
04

.0
0 

 4
.0

0 

 20.00 

25MM SADDLE BRACKET 

1" PEX VALVE

2 x M6 BOLT AND
NUT FIXTURE

SCALE 1:2

SCALE 1:2

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:1 SHEET 8 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

27/07/2021

DS-0006-1-FJ_8

DS-0006-1-FJ_CAD_TAPHLDR

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 9
.5

0 

 1
5.

50
 

 2
5.

00
 

 5
.0

0 

 3 
x 

3.0
0 

 
29

.9
4 

 
22

.9
4 

 2
0.

60
 

 1
7.

20
 

 20.00 

DD

SCALE 1:1

SECTION D-D

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 2:1 SHEET 9 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

28/07/2021

DS-0006-1-FJ_9

PART4^DS-0006-1-
FJ_CAD_TAPHLDR

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 120.00 
 100.00 

 2 
x 

10
.00

 

 2 
x 

4.0
0 

 5
1.

26
  2

0.
00

 

 4 x R5.00 

 120.00 

 2
5.

00
 

 R1.88 

 1
00

.0
0 

 1.21 

SCALE 1:2

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:1 SHEET 10 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

29/07/2021

DS-0006-1-FJ_10

DS-0006-1-
FJ_CAD_LIQUIDHNDWSHHLDR

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 20.00 

 45.00 

 6
0.

00
 

 1
5.

00
 

 R5.00 

 2
.0

0  28.88 

 
20

.0
0 

 4.30 
FOR 4MM 

CSK SCREW

 8
5.

00
 

 4
2.

50
 

 3
0.

00
 

 
5.0

0  3.50 

 R5.00 

 18.25 

4" NAIL

 2
90

.0
0 

 4 x TRUE R5.00 

 2
55

.0
0 

 2
31

.5
0 

 
6.

50
 

25MM X 3MM
ANGLE IRON

M6 WASHERS

SCALE 1:4

EXPLODED VIEW

SCALE 1:4

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:2 SHEET 11 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

21/04/2021

DS-0006-1-FJ_11

DS-0006-1-
FJ_CAD_TWLHLDR

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 8
5.

00
 

 9.00 

 1
5.

39
 

FISHING SNAP 

M12 BOLT AND NUT

25MM x 3MM
ANGLE IRON

 
3.40 

 2
0.

00
 

 1
0.

00
 

 12.00 

SCALE` 1:2

SCALE 1:2

EXPLODED VIEW

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:1 SHEET 12 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

11/08/2021

DS-0006-1-FJ_12

DS-0006-1-
FJ_CAD_ANGLELINE W-M12 
BOLT

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 2
5.

00
 

SCALE 1:6

SCALE 1:6

EXPLODED VIEW

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:3 SHEET 13 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

12/08/2021

DS-0006-1-FJ_13

DS-0006-1-
FJ_CAD_BUCKET&TAPASSM

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1



 15.00 

M4 x25mm 
HEX BOLT &

NUT 

10mm PLAIN WASHER

 
28

.00
 

2mm STRAIGHT LINK CHAIN [L = 200mm]

 2
0.

00
 

 2
.8

0 

DRAWN

CHK'D

APPV'D

MFG

Q.A

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION : A

TITLE:

DWG NO.

SCALE: 1:1 SHEET 14 OF 14

A3

MANUAL SANDING & 
DEBURRING

WEIGHT: N/A

10/08/2021

DS-0006-1-FJ_14

DS-0006-1-
FJ_CAD_CHAINASSM

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: B-3 / 0.25Ra (μm)
TOLERANCES: X,XX 1.50
X,X 1.50        X, 1.50
ANGULAR: 5

3RD ANGLE PROJ.

Imran Ali

A A

B B

C C

D D

E E

F F

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Detail View A (1 : 5)
	Section View I-I

	Sheet2
	Drawing View5

	Sheet3
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9

	Sheet4
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View14

	Sheet5
	Drawing View15
	Drawing View16
	Drawing View17
	Drawing View18
	Drawing View19

	Sheet6
	Drawing View28
	Drawing View29
	Drawing View30
	Drawing View31
	Drawing View32

	Sheet7
	Drawing View33
	Drawing View34
	Drawing View35
	Drawing View36
	Drawing View37

	Sheet8
	Drawing View38
	Drawing View39
	Drawing View40
	Drawing View41
	Drawing View42

	Sheet9
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Section View D-D

	Sheet10
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52

	Sheet11
	Drawing View53
	Drawing View54
	Drawing View55
	Drawing View56
	Drawing View57

	Sheet12
	Drawing View58
	Drawing View59
	Drawing View60
	Drawing View61
	Drawing View62

	Sheet13
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View67

	Sheet14
	Drawing View68
	Drawing View69
	Drawing View70
	Drawing View71




